BHIC-110 History of India:1757-1857
Tutor Marked Assignment

Course code: BHIC-110
- AssignmentCode:BHIC110/ASST/TMA/2024-25

Marks:100

Note: There are three sections in the Assignment.You have to answer all the questions in the sections.

Assignment-1 Answer in about 500 words each.

1. What was the impact of Commercialisation of agriculture? Discuss.20.
Discuss the differences between the Orientalists and the Utilitarians.20.

Assignment-2 Answer in about 250 words each.

3. Did the Permanent Settlement succeed in its objectives?Discuss.10.
4. What is deindustrialization? Comment in the colonial context.10.
5. What were the causes of the Revolt of 1857?Discuss.10.

Assignment-3 Answer in about 100 words each.

The rise of novel
Mahalwari Settlement
Rule of Law
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City and countryside in the 19" century
10. The beginnings of the indentured labour



